## Republic of the Philippines **CAVITE STATE UNIVERSITY**

## Don Severino de las Alas Campus

Indang, Cavite, Philippines
(046) 4150-010 / (046) 4150-0013 loc 203

www.cvsu.edu.ph

## INVITATION TO SUBMIT QUOTATION Supply and Delivery of Books for CvSU Tanza Campus

 The Cavite State University (CvSU) invites interested firms/supplier to submit quotation for the project "Supply and Delivery of Books for CvSU Tanza Campus" with an Approved Budget for the Contract (ABC) of Five Hundred Sixty-Nine Thousand Four Hundred Seventy-Six Pesos Only (PhP 569,476.00). Quotation received in excess of the ABC shall be automatically rejected at the opening.

Item No.	Quantity	Unit	Description	Unit Cost	Total Cost
1.	1	рс	DIGITAL LEADERSHIP: CHANGING PARADIGMS FOR CHANGING TIMES	3,900.00	3,900.00
2.	1	рс	DIVE INTO DEEP LEARNING: TOOLS FOR ENGAGEMENT	4,500.00	4,500.00
3.	1	рс	EARLY LEARNING IN THE DIGITAL AGE	4,500.00	4,500.00
4.	1	рс	ENGAGING, MOTIVATING AND EMPOWERING LEARNERS IN SCHOOLS	3,900.00	3,900.00
5.	1	рс	ENHANCING DIGITAL LITERACY AND CREATIVITY: MAKERSPACES IN THE EARLY YEARS	3,900.00	3,900.00
6.	1	рс	FOUNDATION OF SPECIAL AND INCLUSIVE EDUCATION	7,300.00	7,300.00
7.	1	рс	ILLUSTRATED DICTIONARY OF EDUCATION	3,100.00	3,100.00
8.	1	рс	INTRODUCTION TO PHONETICS AND PHONOLOGY	7,300.00	7,300.00
9.	2	рс	LEAVE YOUR ATTITUDE AT THE DOOR: DISPOSITIONS AND FIELD EXPERIENCES IN EDUCATION	2,500.00	5,000.00
10.	1	рс	MASTERING ACADEMIC WRITING	3,100.00	3,100.00
11.	1	рс	MEASUREMENTS IN DISTANCE EDUCATION: A COMPENDIUM OF INSTRUMENTS, SCALES, AND MEASURES FOR EVALUATING ONLINE LEARNING	4,500.00	4,500.00
12.	1	рс	POWER UP BLENDED LEARNING: A PROFESSIONAL LEARNING INFRASTRUCTURE TO SUPPORT SUSTAINABLE CHANGE	4,200.00	4,200.00
13.	2	рс	PROFESSIONAL DEVELOPMENT: WHAT WORKS	3,100.00	6,200.00
14.	1	рс	RESEARCH METHODS: THE BASICS	3,100.00	3,100.00
15.	1	рс	SIMPLE AUTISM STRATEGIES FOR HOME AND SCHOOL	3,100.00	3,100.00
16.	1	рс	SPSS STATISTICS FOR DATA ANALYSIS AND VISUALIZATION	3,100.00	3,100.00
17.	1	рс	TEACHING AND LEARNING ABOUT DIFFERENCE THROUGH SOCIAL MEDIA	4,700.00	4,700.00
18.	1	рс	TEACHING ENGLISH AS AN ADDITIONAL LANGUAGE IN SECONDARY SCHOOLS: THEORY AND	4,700.00	4,700.00

			PRACTICE			
19.	2	рс	TEACHING HISTORY CREATIVELY	3,100.00	6,200.00	
20.	2	рс	TEACHING HISTORY CREATIVELY	2,700.00	5,400.00	
			TEACHING NINETEENTH-CENTURY	,	-,	
21.	2	рс	LITERATURE: AN ESSENTIAL GUIDE	3,500.00	7,000.00	
			FOR SECONDARY TEACHERS			
			TEACHING STRATEGIES THAT			
22.	2	рс	CREATE ASSESSMENT-LITERATE	3,500.00	7,000.00	
			LEARNERS			
23.	1	рс	TECHNOLOGY AND INNOVATION IN ADULT LEARNING	3,821.00	3,821.00	
			THE ACADEMIC SKILLS HANDBOOK:			
	_		YOUR GUIDE TO SUCCESS IN			
24.	2	рс	WRITING, THINKING AND	2,200.00	4,400.00	
			COMMUNICATING AT UNIVERSITY			
25.	1	рс	THE BLENDED LEARNING BLUEPRINT	3,704.00	3,704.00	
25.	'	ρc	FOR ELEMENTARY TEACHERS	3,704.00	3,704.00	
			THE DYSCALCULIA TOOLKIT:		,	
26.	2	рс	SUPPORTING LEARNING	2,200.00	4,400.00	
			DIFFICULTIES IN MATHS THE EDUCATOR'S GUIDE TO			
27.	1	рс	PRODUCING NEW MEDIA AND OPEN	5,200.00	5,200.00	
21.	'	pc	EDUCATIONAL RESOURCES	3,200.00	3,200.00	
			THE LEARNING AND TEACHING OF			
28.	1	рс	ALGEBRA: IDEAS, INSIGHTS AND	3,200.00	3,200.00	
		•	ACTIVITIES	·	ŕ	
			THE LEARNING AND TEACHING OF			
29.	1	рс	GEOMETRY IN SECONDARY	3,900.00	3,900.00	
25.	'	Po	SCHOOLS: A MODELING	0,000.00	0,000.00	
			PERSPECTIVE			
30.	1	рс	THE LEARNING AND TEACHING OF MATHEMATICAL MODELLING	4,100.00	4,100.00	
			THE SECOND LANGUAGE LEARNING			
31.	2	рс	PROCESSES OF STUDENTS WITH	4,200.00	8,400.00	
"	_		SPECIFIC LEARNING DIFFICULTIES	, , , , , , , , , , , , , , , , , , , ,	_,,,,,,,,	
32.	1	no	THE TEACHING OF SCIENCE IN	4,700.00	4,700.00	
32.	<u>'</u>	рс	PRIMARY SCHOOLS	4,700.00	4,700.00	
			THEORIES OF EARLY CHILDHOOD			
33.	1	рс	EDUCATION: DEVELOPMENTAL,	3,400.00	3,400.00	
			BEHAVIORIST, AND CRITICAL THESE 6 THINGS: HOW TO FOCUS			
34.	1	рс	YOUR TEACHING ON WHAT MATTERS	4,700.00	4,700.00	
54.	'	pc	MOST	4,700.00	4,700.00	
			UNDERSTANDING RESEARCH IN			
25	4		EARLY EDUCATION: THE RELEVANCE	3 600 00	2 600 00	
35.	1	рс	FOR THE FUTURE OF LESSONS FROM	3,600.00	3,600.00	
				THE PAST		
			UNDERSTANDING THE MONTESSORI			
36.	1	рс	APPROACH: EARLY YEARS	3,900.00	3,900.00	
		-	EDUCATION IN PRACTICE			
37.	2	nc	WHY THE BRAIN MATTERS: A TEACHER EXPLORES	3,000.00	6,000.00	
31.		2 pc	NEUROSCIENCE	3,000.00	0,000.00	
			WRITING MATTERS: A HANDBOOK	0.000.00	0.000.00	
38.	1	рс	FOR WRITING AND RESEARCH	3,000.00	3,000.00	
			WRITING THE WINNING THESIS OR			
39.	1	рс	DISSERTATION: A STEP-BY-STEP	4,500.00	4,500.00	
			GUIDE			
40.	1	рс	Cost Accounting & Control (Custom)	4,400.00	4,400.00	
41.	1	рс	Effective Human Relations: Interpersonal	1,200.00	1,200.00	
		-	and Organizational Applications	·	·	
42.	3	рс	Hotel Operations Management	1,000.00	3,000.00	
43.	1	рс	Human Resource Management	1,700.00	1,700.00	
44.	1	рс	Macroeconomics: Principles & Policy	9,200.00	9,200.00	

45.	1	рс	Marketing	9,200.00	9,200.00
			Strategic Management: Concepts and		
46.	1	рс	Cases : Competitiveness and Globalization	9,200.00	9,200.00
47.	1	рс	Strategic Management: Theory & Cases: An Integrated Approach	9,200.00	9,200.00
48.	1	рс	Understanding Management	9,200.00	9,200.00
49.	1	рс	Advertising, Promotion, and other aspects of Integrated Marketing Communications	9,200.00	9,200.00
50.	1	рс	An Introduction to Qualitative Research	6,000.00	6,000.00
51.	1	рс	Business Research Methods	1,700.00	1,700.00
52.	1	рс	COMMON MISTAKES IN TEACHING ELEMENTARY MATH—AND HOW TO AVOID THEM	3,300.00	3,300.00
53.	1	рс	CONDUCTING EDUCATIONAL RESEARCH: "GUIDE TO COMPLETING A THESIS, DISSERTATION, OR ACTION RESEARCH PROJECT"	6,100.00	6,100.00
54.	1	рс	DIGITAL LEADERSHIP: CHANGING PARADIGMS FOR CHANGING TIMES	4,100.00	4,100.00
55.	1	рс	DIVE INTO DEEP LEARNING: TOOLS FOR ENGAGEMENT	4,300.00	4,300.00
56.	1	рс	EARLY LEARNING IN THE DIGITAL AGE	4,100.00	4,100.00
57.	1	рс	ENGAGING, MOTIVATING AND EMPOWERING LEARNERS IN SCHOOLS	3,600.00	3,600.00
58.	1	Pc	ENHANCING DIGITAL LITERACY AND CREATIVITY: MAKERSPACES IN THE EARLY YEARS	3,600.00	3,600.00
59.	2	pcs	FOUNDATION OF SPECIAL AND INCLUSIVE EDUCATION	7,200.00	14,400.00
60.	1	рс	ILLUSTRATED DICTIONARY OF EDUCATION	3,100.00	6,200.00
61.	1	рс	INTRODUCTION TO PHONETICS AND PHONOLOGY	7,200.00	7,200.00
62.	1	рс	LEAVE YOUR ATTITUDE AT THE DOOR: DISPOSITIONS AND FIELD EXPERIENCES IN EDUCATION	2,100.00	4,200.00
63.	1	рс	MASTERING ACADEMIC WRITING	3,200.00	3,200.00
64.	1	рс	MEASUREMENTS IN DISTANCE EDUCATION: A COMPENDIUM OF INSTRUMENTS, SCALES, AND MEASURES FOR EVALUATING ONLINE LEARNING	3,906.00	3,906.00
65.	1	рс	POWER UP BLENDED LEARNING: A PROFESSIONAL LEARNING INFRASTRUCTURE TO SUPPORT SUSTAINABLE CHANGE	4,000.00	4,000.00
66.	1	рс	POWER UP BLENDED LEARNING: A PROFESSIONAL LEARNING INFRASTRUCTURE TO SUPPORT SUSTAINABLE CHANGE	4,000.00	4,000.00
67.	1	рс	BEST PRACTICES IN PLANNING STRATEGICALLY FOR ONLINE EDUCATIONAL PROGRAMS	3,200.00	3,200.00
68.	1	рс	BLENDED LEARNING IN PRACTICE: A GUIDE FOR PRACTITIONERS AND RESEARCHERS	5,100.00	5,100.00
69.	1	рс	BECOMING A TRANSFORMATIVE LEADER: A GUIDE TO CREATING EQUITABLE SCHOOLS	3,500.00	3,500.00
70.	2	pcs	100 YEARS OF THE BAR AND BEYOND IN REMEDIAL LAW VOL 2 PROVISIONAL REMEDIES AND	1,593.00	1,593.00

TOTAL AMOUNT					569,476.00
78.	1	рс	Journal of Economic Issues	20,000.00	20,000.00
77.	1	рс	Teaching and Teacher Education	21,000.00	21,000.00
76.	1	рс	International Journal of E-Services and Mobile Applications (IGI)	32,000.00	32,000.00
75.	1	рс	International Journal of E-Business Research (IGI)	35,000.00	35,000.00
74.	1	рс	Journal of Management in Information Systems	23,000.00	23,000.00
73.	1	рс	Journal of Economic Issues	44,000.00	44,000.00
72.	1	рс	Teaching and Teacher Education	44,984.00	44,984.00
71.	1	Pc	Professional Development in Education (T&F)	37,000.00	37,000.00
			SPECIAL CIVIL ACTIONS (1913 UP TO 2015) BASED ON THE COVERAGE OF THE BAR EXAMINATIONS		

- 2. Delivery Period: \_\_\_\_ calendar days from the receipt of P.O.
- 3. Price quotations must be valid for a period of sixty (60) calendar days from date of submission and shall include all taxes, duties and/or levies payable. Bidders shall also indicate the brand and model of the items being offered.
- 4. Warranty shall be for a period of six (6) months for supplies and materials. Warranty for equipment must not be less than one (1) year from the date of acceptance and shall be accompanied with Warranty Certificate.
- 5. The quotation must be submitted to the Supply Office through mail, fax or email at the contact details listed below **on or before 5:00 PM** of **July 14, 2022.**

Address : Supply Office, Administration Building

Cavite State University

Indang, Cavite

E-mail : supplyoffice@cvsu.edu.ph

Telefax : (046) 862-0852

6. The CvSU reserves the right to reject any or all quotations and/or proposals and waive any formalities/informalities therein and to accept such bids it may consider as most advantageous to the agency and to the government. CvSU neither assumes any obligation for whatsoever losses that may be incurred in the preparation of bids, nor does it guarantee that an award will be made.

ROSELYN M. MARANAN
BAC Secretary, Goods and Services